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Create a pandas series from a dictionary of values and an ndarray

import pandas as pd

import numpy as np
s=pd.Series(np.array([1,3,4,7,8,8,9]))
print(s)

Output:

= RESTART: C:/Users/hp/AppData/Local/Programs/Python/Python38-32/dictionary.py =
A 10

B 20

C 30

dtype: int64

s |

# import the pandas as pd

import pandas as pd

# create a dictionary

dictionary = {'A":10,'B': 20, 'C ': 30}
# create a series

series = pd.Series(dictionary)

print(series)

Output:

A 10
B 20
C 30
d
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#2. Given a Series, print all the elements that are above the 15th
percentile.

import pandas as pd

import numpy as np

s=pd.Series(np.array([1,3,4,7,8,8)9]

print(s)

res=s.quantile(g=0.75)

print(res)

print('75th Percentile of the series is:: : ")

print(res)

print()

print("The elements that are above the 75th percentile : : ')

Output:

OV hwNREO®
WP WwR

dtype: int32

8.0

75th Percentile of the series is:: :
8.0

The elements that are above the 75th percentile : :
6 9
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)

Create aData Frame quarterly sales where each row contains
the item category, item name, andxpenditure . Group the rows by
the category, and get the sum™

import pandas as pd

dic={'itemcat":['car','Ac','Aircoller','Washing Machine'],
'itemname':[Ford ','Hitachi ','Symphony ','LG '],
‘expenditure'’:[7000000,50000,12000 ,14000]}

guartersales=pd.DataFrame(dic)

print(quartersales)

gs=quartersales.groupby(‘itemcat’)

print('Result after Filtering Dataframe’)

print(gs['itemcat’,'expenditure']l.sum())

Output:

itemcat itemname expenditure
0 car Ford 7000000
1 Ac  Hitachi 50000
2 Aircoller Symphony 12000
3 Washing Machine LG 14000
Result after Filtering Dataframe

expenditure

itemcat
Ac 50000
Aircoller 12000
Washing Machine 14600
car 7000000
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#14. Given the school result data, analyse the performance of the

students on different parameters, e.gsubject wise or class wise.

import matplotlib.pyplot as plt
Subject=[Physics','Chemistry','Hindi','Biology’,'"Computer sc']
Percentage=[85,78,65,90,100]
plt.bar(Subject,Percentage,color='g")

plt.xlabel('SUBJECTS NAME')

plt.ylabel(PASS PERCENTAGE')

plt.title('Bar Graph For Result Analysis')

plt.show()
Output:
Bar Graph For Result Analysis
100 -
BO .
©
=
& 901
=
G o
=
20 -

Physics Chemistry Hindi Biology Computer sc
SUBJECTS NAME
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#4. Create a data frame based on ecommerce data and generate
descriptive statistics (mean, median, mode, quartile, and variance).

import pandas as pd
import numpy as np
sales = {'InvoiceN0'[1001,1002,11003,1004,11005,1006,11007],

'‘ProductName ' : [ 'LED' ,'AC' ,' Deoddrant','Jeans','Books ',' Shoes ',
Jacket'],

'‘Quantity’ : [2,112,112,1,1,1,10],
'Price’ : [65000,55000,1500,25001,9501,3000,2200]
}

df=pd.DataFrame(sales)
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count 7.00
mean 23028.86
std 26674.30
min 1500.00
25% 2600.00
50% 9501.00
75% 40000.50
max 65000. 00
Name: Price, dtype: float64
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# Create a data frame for examination result and display row labels,
column labels data types of each column and the dimensions

import pandas as pd

dic={'Class['I',;'lI',;'tll', Iv','\V','VI','VII', "VIHT'' XXX, X,
'‘PassPercentage ' :[100,100,100,100,100,100,98,80,85,75,98,100]}

result =pd.DataFrame(dic)

print(result)

print(result.dtypes)

print('shape of the dataframe is: :: ")

print(result.shae)

Output:

==== RESTART: C:/Users/hp/AppData/Local/Programs/Python/Python38-32/exam.py ====
Class Pass-Percentage

0 I 100
1 II 100
2 IIT 100
3 IV 100
4 v 100
3 VI 100
6 VII 98
7 VIII 80
8 IX 89
9 X 15
10 XI 98
11 XII 100
Class object
Pass-Percentage inte4

dtype: object
shape of the dataframe is: ::
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Filter out rows based on different criteria such as duplicate rows.

import pandas as pd

dic={'Name":['Rohit’,'Monhit','Deepak’,'Rohit','Deepak’,'Sohit','Geeta'],
'marksinip':[98,97,99,98,100,99,97]}

marks=pd.DataFrame(dic)

#Find dupt icate row

duplicaterow = marks[marks.duplicated(keep=False)]

print(duplicaterow)

Output:

RLLARLY L juaelaf ly/appbala/ bUbdl/ FLUY LA/ CYLIULL TYLIUIIO 4 JUUPLILaLELUN, )Y
Name marksinip

Roit i
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Find the sum of each column, or find the column with the
lowest mean.

import pandas as pd

Profile ={'TCS' :{'Qtrl' :2500,'Qtr2' : 2000tr3' :3000,'Qtr4' :2000},
'WIPRO ' : {'Qtrl ' :2800,'Qtr2' : 2400 , 'Qtr3' :3600,'Qtr4":2400},
'L&T " :{ 'Qtrl:2100,'Qtr2' :5700, 'Qtr3' :35000,'Qtr4":2100}}

df = pd.DataFrame(Profile)

print(df)

print()

print('Column wise sum in dataFrame is : ::")

print(df.sum(axis= 0))

print()

print('Column wise mean value are : : :::::: ")
print(df.mean(axis=0))

# Returns CoLumn i-tith minimum mean value

print()

print('Column with minimum mean valueis ::::::::::")
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TCS
WIPRO
L&T

TCS
>»>

y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
y
v

wise sum in dataFrame is : ::

dtype: floaté4

Output:

TCS WIPRO
Qtrl  2500.0 NaN
Qtr2  2000.0 2400.0
Qtr3  3000.0 3600.0
Qtrd  2000.0 2400.0
Qtrl NaN 2800.0
Qtrl NaN NaN
Column
TCS 9500.0
WIPRO 11200.0
L&T 44500.0

Column wise mean value are : : : : : : :: :

2375.0
2800.0
11225.0

dtype: floaté4

Column with minimum mean value is : : :: @ :: @ 1@ :
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RESTART: C:/Users/hp/RppData/Local/Programs/Python/Python38-32/sum of column.py ===================

L&T
NalN
5700.0
35000.0
2100.0
NalN
2100.0
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# Locate the 3 largest values in a data frame.

import pandas as pd

dic={'Name":['Rohit’,'Monhit','Deepak’,'Rohit','Deepak’,'Sohit','Geeta'],
'marksinip*:8,97,99,98,100,99,97]}

marks=pd.DataFrame(dic)

# Findlargestrow

print(marks.nlargest(3,['marksinip'))

Output:
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# Subtract the mean of a row from each element of the row in a Data
Frame.

import pandas as pd

Profile ={'TCS" :{'Qtri2500,'Qtr2' : 2000 ,'Qtr3' :3000,'Qtr4' :2000},
'WIPRO ' : {'Qtrl ' :2800,'Qtr2' : 2400 , 'Qtr3' :3600,'Qtr4":2400},
'L&T ' :{ 'Qtrl:2100,'Qtr2' :5700, 'Qtr3' :35000,'Qtr4":2100}}

df = pd.DataFrame(Profile)

print(df)

print()

print('Mean of each row is::")

print(df.mean(axis= 1))

print()

print('DataFrame after subtracting mean value of each row from each
element of that Rowis:::::::::")

print(df.sub(df.mean(axis=1),axis=0))

Output:

RESTART: C:/Users/hp/AppData/Local/Programs/Python/Python38-32/subtract.py
TCS WIPRO L&T
Qtrl 2500.0 NaN NaN
Qtr2 2000.0 2400.0 5700.0
Qtr3 3000.0 3600.0 35000.0
Qtré 2000.0 2400.0 2100.0
Qtrl NaN 2800.0 NaN
Qtrl NalN NaN 2100.0

Mean of each row is : ::

Qtrl 2500.000000
Qtr2 3366.666667
Qtr3 138€6.666667
Qtré 2166.666667
Qtrl 2800.000000
Qtrl 2100.000000

dtype: float64

DataFrame after subtracting mean value of each row from each element of that Row is : : : : : : :: :

TCS WIPRO L&T
Qtrl 0.000000 NaN NaN
Qtr2 -1366.666667 -966.666667 2333.333333
Qtr3 -10866.666667 -10266.666667 21133.333333
Qtré -166.666667 233.333333 -66.666667
Qtrl NaN 0.000000 NaN

Qtrl NaN NaN 0.000000
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# Replace all negative values in a data frame with a

import pandas as pd

import numpy as np

dic={'Datal'{5,-2,5,8,9;6,1],

'Data2":[2,4,10,55,-8,2]}

df=pd.DataFrame(dic)

print(df)

print()

print("data Frame after replacing negative values with O :: :")
df[df<0]=0

print(df)

Output:

Datal DataZ

0 -5 2
1 -2 4
2 5 10
3 8 5
4 9 -5
5 —h —

6 2

data Frame after replacing negative values with 0 :: :
Datal Data2

0 0 2
1 0 4
2 9 10
3 8 5
4 9 0
5 0 0
6 1 2
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# Replace alinissing values in a data frame with a 999.

import pandas as pd

import numpy as np

empdata={'empid:[101,110,211,103,104,105],
‘ename’:['Sachin','Vinod','Lakhbir’,np.nan," Devinder ','UmaSelviT,

'Doj":['12-01-2012','1501-2012','0509-2007','1 ~01-
2012',np.nan,'1601-2012"}

df =pd.DataFrame(empdata)

print(df)

df =df.fillna({'ename' :999 , 'Doj' :999})

print()

print(df)

Output

;;;:::::::::::::::: RESTART: C:/Users/hp/BppData/Local/Programs/Python/Python38-32/replacemissing.py ===================
enpid enanme Doj

0 101 Sachin 12-01-2012

1 110 Vinod 15-01-2012

2 211 Lakhbir 05-09-2007

3103 NaN 17-01-2012

4 104 Devinder NaN

5 105 UmaSelvi 16-01-2012

empid ename Doj
101 Sachin 12-01-2012
110 Vinod 15-01-2012
211 Lakhbir (05-09-2007
999 17-01-2012
104 Devinder 999
105 UmaSelvi 16-01-2012

L I SY R ST )
e
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# Importing and exporting data between pandas and CSV fi

# importing pandas module

import pandas as pd

df=pd.read_csv('data.csv’)

print(df)

Ouput:

PWNERO

164
165

167
168

[169 rows x 4 columns]

import pandas as pd

al=[{'Name"'Sachin','Sirname":"Tendulkar'},
{'Name':'Vinod','Sirname":'Kambli'},
{'Name':'Virender','Sirname":'Sehwag'}]

dfl=pd.DataFrame(al)

Duration
60
60
60
45
45
608
60
60
75
75

Pulse Maxpulse Calories

110
117
103
109
117
105
110
115
120
125

130
145
135
175
148
140
145
145
150
150

409.1
479.0
340.0
282.4
406.0
290.
3e0.
31e.
320.4
330.4

N ® 00 -

dfl.to_csv("BDataframel.csv")
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